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he ambiguous case

" Note: The required angle could also be
.~ (180°-29° 14), that is, 150° 46', but
~ this would mean the angle sum of the

"~ triangle is greater than 180°. As both

- acute and obtuse angles have sine

~ positive, an obtuse answer is always
~ possible. When a decision cannot be

- made between the acute result and the
~ obtuse result it is known as the am-
~ biguous case. S






=302




Q¥






















nu@ 0 %ﬁv
















{c)

From o o, A, level with he e
) eangle of ele 1 ““ - of the top

. OfthehﬂlHiﬂm “‘ .;-..

i R the t,ower T bullt .-hl ,I.H' 8 £l

o m in a direct It
b“e (B) of the hill, ¢ ~tll}.fm

- cal
f_,:.'u‘ comculctatethehe zht of th
ﬂ "H 'ﬂ ', '.1* *

e
ngthAHB.ndu,gg I]’HI qniorg









“u | s




000,




Mo,




